inizio canaletta

Profilo F TO-4 canaletta cls (1 di 2)

O . _
< L _Am Z ©
a S »n X I
— %) o W o)
- wuzso| | < T O . w c 2 (@)}
00952 4Boxd Q O N Of w <
— Wiz + 98 - _W 5 = Q = % 4
O o < § 0 = S S ER-BE 1K=
~ 679z + 9802 - C q s 35 . ol O S K o
- o) N S O T n o © a
— =3 C g . alZ © > <
— o - £ 2 w Q Slw o
- 9re = < S £ —/ < . o R
2 Z r 2 N < > :
- > m e) V W
L e + 9802 < 0 — O O Q — o) D
Q g
L n < 9
L 4 —
- 6le N A T C Q J
— [}
- oo + 18222 = U R E ” E ) < = al
— - o
— o N S .
L ) i~ ~ olw (@)}
ove Ll M _/ ~ IO E 9 w o
- | = L —~ ~J ® “l< @ ||Y °
- NI - 0 =
. o 29 > < = X D W _-x Qo glx ¢ |3 =
8o + 19220 b 1%}
- << < I~ RS g - |3 =)
L] Z D m [ C S _M ®) w o
] o o )= < ™ X = Lo
— N eser + 28022 - I uAn =_ T N ﬁv P O 1 W
Wz + 69760 owsrz sboid | | < = @0 < =~ O E N VS (@)
801 | e L I O _LI X
LLl n e
e L o — (n'd — = s QO a A
ml S z 2% < D O k X S y !
w2 — wore + 19020 = < <= A —/ A 0 IO : E ~
— A o
— ! w N ' C O _/ ~ ~ ) Q °
_ . - | _ <= Ll f S & " o N o o
6L+ orvez - 61t O ! = i — ' s I
o C L oz ~ /ﬂ N 'S ol & I o
19662+ 8LVET C <= 0] TG v G A DI 2l 8 @) S
. - i + 1902 ~
%91 - = x Z — — g S Sl » N S o
O N K] Q e 4 N
! 66262 + 18YEC - ] : > N O
L o - N S O ¥ X < -— o al
— = - S = = 8
ES D ~ L N a) < m
ov'e | ooz + sz 4 NT . A A . AN > < 3 =} (p)
- a O w S8 R 2
[ o (%)
0vez 28987 N oee M N W N
0z = N M Ny <
— — 980ez + 18022 10 e
. ! 19V62 510 L . =
ovzer +  16VEL e — N o w o
07’267 4Boid - < 3 a 2
| - ) S —/ = g =
! e %) 3 o @
082 — =
g E O £ 223
| - Q 5 o FoE%
1 | . L ) ==
1962+ 96vEC L 8922 1 88122 T & 0[ % S &0 23 3
=~
o - Q > 3 238«
082 . 0ee A & Q . €
- = = 28
18922 + 20587 - ] . . - ©°
— evve 4 891 - +
— o
087 ~ o
— 8le
Wiz 4 0% —
] 0612z + 88.¢C o
092 L
] 12s
wiee + s |
. - 17T, 9592z s10 | _|
— 608l T 8822 7 — 00ey + oz A %w.%w..awm_ — ] 96169 “60id
61T 4 9VSET - — — - L Y060 + 9v9e
ol — — L
waz 4 81se — 8le — o+ orzz A C .
. r B 10T — 999 4+ g i
e T 1671z + 882 — ] 51889 8y9z
] L 0769y + 9L - — .
£9SIC 1 €256C - L . - ] 692
vk - ree [ e |
B 4+ 2T o g L€ — — L oregy 4+ 05922
. S ) — . . | 09y + 112 |
oLt I3 8y.e L [URTTAE S DT A T o
@ Ty — .
"o L | [ . . 052
egelie + ezsee 4 -3 egsoy + L0122 —
| 6L'e L 99} | 6789 + 25922
e ] . e + L1 —
. . T 057
— 15802 + 8822 — 91 L
weoe 4 seser L L sgoor + L0 ] o089 + 1592z
— we — —
8 ] C e — 052
] A . 1 U —
vz L oveez I 62500 + 69220 ] veoor + L012 — R R
, . L [ | 17 B
08 B¢ — 052
— — 65y + L2 L]
Sryoz +  9vSEr — . . — S0 L svel9 + 15922
L ovee + 6822 — 6996y + L2 —
L - I 00e
082 — — 8l L
— we — L svelo 4 66922
- - wesy + L2 |
o0z 4+ 2556 L L C 0z
~ 19960 T 6822 — o — . .
082 I | e L 1z A L — SYL9 4 09922 -
— 0ze — . L W0 + 199
6886l - 859 — ] e +— 1z E _E
- L ~
C | — €269 1+ 08922 4 HETZ | gopp
. | 89%6r 4+ 6922z o C €L0sy 4 1002 . 671 M.Fm
— — L 6299 4 €992z
| — §v'e — 44
0961 4 €956 - €ze — |
. L L T2, 19999 + 7892 -
@l 98562 51D sy + LU0z Lie o | — v
viveL 4 99667 p6) 601 | | C | g Sery o ] el
sl d — Sv'z6l + 68LC o — <2 . . L 86699 4+ 997z -
8yl - L w0y + 1 |
9ze6l 4 056 T B . — 00z
~ 0ze — 06t [
my I overy + s — 96699 4 99922 -
9t 1 v68L 4 68220 el ] % — 0
| L veeww + 812z — €6199 + 8992C
' ) . — 00
0968} 81567 L 74> - - €c009 + 89922
- — — 852 L
; . — 1098 | 68222 - © ] 05T
19080 + 896 | L 90y + 82 s
202 - — oM - eg00 + oroz
] 12e — 097 @© —
5968 + 98567 - . % ] 05T
101 L [ 9er 4+ gruzz A
S R ] 0878l 06222 C sy 8Lz 9 — . .
T ] 51 S 8 = - | €658 + 29
- — — 8rocy 4 8Llc o © L
" — ree — == 8 052
© D = —
- - 81 S5 3 I
80781 + ¥6SEC L | } .
— 196L 4+ 06'[¢C o — 9vey + 8.2 m ..m el T €879 + .92 -+
L L = r
087 | C 68 m m m . 057
L ! L [5}
_ ee C erzey + 8l A c 8o —
961 + 1096C C - Q = % — 09 4 99z
— ol 0622 ~ €Lz = & 5 y 052
082 — — S 3 |
. - = = L
— 17t — 0008y + 8Ltz o 0 © = - cosre + er9zz 4 -
6v9LL + 109 - L n cfe
— — E-do ISR . 81922540 | |
233 — — , 052 S8 Y €999 boid
) ) L el + 0622 L ere ! mwm
Lyl 4+ LV9ET A L L W ) . ==t 0ez 95'922 "SI0
80'L L [ i €eGY9 + 0892 -+ mwm £9'99 ‘1Boig
69¢ll 4 v19g . ! 588 .
— — . . —7 > 566
L e C ey + s A ] 5z CEH P
L L 0ol L “ud £5'7p9 160id
082 . . osey + s
— 6869 1 06222 — T 979 4 1892 B9 50
— — 18l I “PpQ
05020 4+ 029z A — — . . — e £gv9 60id
AN || 5ze || ov'eey + 6L ||
8169l 4 €79c .
w0 ] — 66°) — €E0r + €992
— 79991 - 06.ce 7 — iy 1+ 6L o ~ 0zt
ovgoL 4 z9e L - L
L L L €989 4 8922
— 743 — 08T — .
e - L — 61
I | oy 4+ ez ] 8989 1+ 9892
| weor L 16z 4 L 19817 6122 L
6LV9 T GE9ET C C | €1z
€87
£ g E — . ] [
827 =& L e L [ LLVE9 + 8892
a3 1189
. . SN — — sy 4 612 — "z
15290 + ooz 4~ S — . . - . —
| 91'09) 4+ 16722 A || 0ch -
] L Wy + 6L L 15789 4 68922
092 L [ 90l L
— €zt . sgely + 6.2 L 2
. ) — - 90l L
VR S A || - wew 4 6z —
— €695) + oL — — L0089 - 169
082 — L N
C - 80 ] 052
] 9ze ~ ~
w9+ be9T — — — ] !
| — vre0r 4 L. o — 15129 1 €692¢ o
082 | 89ESl 1 164 - I O .
L L] o [
s + 199 - €zt - - 10629 4 6922
— ~ vy + 6L ~
: ~ 1 ] 052
o8e — wost 4 1622 — -
- ] 80 1 : :
€IS + 8996 — — - 95229 96'922
ot ] | ooy 4+ 6L - | ks
cg6rl 4 L9 - L L 09029 + 86922
" _ 8Ll + 162 - — 151
esorl 4 Sr9ec — - ove -
L || L 60619 + 66922
— Ve - - .
L [ 900y 4+ 0822 - | 15
e - L L 1509 4+ 0022z
- eerl 4 1622 — ' - ]
— | L 80 88 . - 9z
@ 4+ g9z — 1 ge¢ w0 ]
— e — e + gz 4 NS I el + 20 -
89l - - |
w6zrl 4 6996 o wor, 4+ 2572 - 1 e 1 e
| ] ] 9219 1+ b0z -
743 .
— e — 86'e6E 4~ 08222 —
— — — eve
96EL - 869 7 — wier + e — 80¢€ — oo 4 sozz 4
£ — — —
~ 8z ] 68066 + 08122 - 1 e
sguel 4 e ] ~ ~
C | 1 10109 + 1002 o
— . . ~ e ~
w2 L vvel + 2622 L L e
sgvel 4+ zviee — ae - Sulfe T 8L 1 — 18900 4 60222
- C | I 60°€ I :
e — 6906) 4 26420 — L] 1T
B 68962510 | _| — — . ! — 967209 + ez
9r'lgl 61262 o1c) 1Boiy | . C orvee 4 0922 I
C 8ze | |
187
8z L | e L
L V9L + e - L - 65009 + iz
96°82) - 17160 - — — —
- L 65188 + 08220 L -
— 9e — —
082 — — — . .
I | o C wees 4+ i -
o + sz A ] sevel 1 wiee o | ] 207
®l — — 058E 4 182 —
! ) ~ C | ] 07968 + 9.2
gVl 4 8€UET - : 62¢
8yl o — L | I
_|_ B ] He ] 197
g8 + eviee — 77, — —
— L Wizl + iz eLeeoi0 || L ]
80k} iboxd . .
m O ] — 8esle 4 182 — €5e6s + 8122
69°¢ I m — 9z'¢ — — 187
N~ — — . —
RG] | T 60 =
ile) C | O wies 4 612
6L 7oz 4 09l 1+ €642
89611 15T x | L L
- o N | 6ceLe + 182 ] %7
05t =51 )  — — I N
S8 | o =5 :
o 4+ s 4 il E w ~ 6t — e - 0688 + 1zee
N — - — — :
’ O w = - ISP - €622 — ) ! — see
60°¢ o o o] L L 1169 + 18722 [
o> ~
13 3V - L L 29986 + €0
[ L . L L
69l 4 99267 K ] e L ove L -
052 — . . - - oo Ly
C ZATTIE S A | B ] €8 vz
elzi 4 eriee JON v— s | R . L | w2z
10°6€ "J60xd — U — 4% —
092 S — — - 1028 + 922
e sr)
o o ] _ _ il . _ i _ S88
© 9 v60L 4+ €622 9679 1 182 92T 228 |an
6€60L + 18°/62 - m ~ ] — B oL
ol & 1LY + 60°06C ] | e ] 86,5 + egee 4
082 o) 1€ L 8t L L]
c we
= overe 4 910z — — —
0990} 4 6262 ] WL + €642 - L G e L ssus 1+ 6Tz
w . — L | |
vuezsio | _| eLe — . ~ e — £ee
89V0L + v6UEC 90’501, “1601d — 1£e — L
80k — ~ ~ 9esls + ez
08€0) - B6LEC erie + ve0eT ] ] } o vrose 1 282 1
. I Sel0L €642 | | 07z
082 0S0ve + 0ro0eC —o — — e — i .
8zl — ue — L ovels + e
ool 4 soeez A weee +  9r0ee — O | 172
oW - 8586 6.0 o L £oese 1 2842 L
6866 —+ 60967 05C ~ ] — 905 + tELE o
89l L 182 L e | evl
EL9eE - 6506 7 — - — 5608 4+ seuz A
1286 + V8 o C | |
61 | s + 16 C S C syl
o ' A
I L . - 10895 + 9€.2
ove orvee 4 00z | wve + 6T _ ©l _ .
L Wl [ pieve 4 29220 | ol
66 [ €6 + 6.2 o — 66’} S— - 19996 + /€2
L — . . 8122510 —
v 4+ szeee L] I . sLLve 1 e8lee o1/ 14€ boig | ] - 'z
0z oriee 4+ 900z 4 | W6 + eI . el . P
£ g E . y .
! ] $fe 15 c . — 081 — wore 4+ 2902 —
S e L R soee + w0z { 228 . ] . . — o n s
o L R 8v6e - 006 + 6T o - b .
. o | — —_ —_— .. N
682 @l LG — - | seve + 29z | €6 + oz o
€088 4+ S0MET - || L L :
C we + 16l | L {0
€68 - 0reC - 61 | C e _
C | 3 095 + v
woze 4 eviee .
e ] “t . e + 8z A | ue
157 — L -
€08 4 8reET - — 08 + 6l o — — 8083 T v
L L eve L
e + ST _ | | 602
092 L vz L L
ov'e - - cosee 2902 — 6698 + Sviee
¥ 4 1986C - } . C | | .
981ZE - TWIET o | o8 4+ veue _ e — he
082 91 — — T 68€5S + vz -
oz + 9eier | : I N 0
) ; — ae ) wree +  €8°.2C o 7 wess + e 4
€718 + §G98EC o 9.1 || || || 801
ke — ovgle + IlET o — 698, 1 ¥6LT o = e — SLVss - sviee 4
w60 4 oresz oveezsio | _| L L L
266/ 1Boid . L] | [ 661
871 61c N oze ] |
vl + ez . . ] C 6UIee 1 €920 _ orers + 052
e 4 e _ | _ -
082 . ] 6ESL 1 S 1 ] e . vers + 152
o | T ] e + sl I| be ] 1952 + €812z - =] e
Vvl 4 9896C el | ] | 19605 + €502 -
o T8 4+ £5167 - — weu 1+ ST o | e ]
. €02
651 — — —
0L + 69T ! . - . — — } .
890l + 692€C H eweezosio | | L] 9l L vg6ze + £8/27 A - Yoevs + ¥9LiC H
4 0€°01€ "Boird — - -
e A 9560¢ - €966 - L L 50z
. | 169 + 6T o — e ]
89’} L L Q.u L 091¥s + 95.¢C o
€669 + 20657 | 69206 + 99667 - ] ! | O ] -
u e ~ e 4+ 9.2 = L 07
8v'e . ] ] = ) 95665 + 15220 -
6v'e — 099 + S6lC o — . Ll —
97’19 01662 e — 50T
1 J ~ | | L |
6cv0E + zLecz A — e — . 1 . i o — °5LeS + 89°L2C
e ] ] 8z6le €972 - ]
012 — — (@] — 0T
. . — 1629 + S6.2C - — ; (&) —
99v9 4 61667 - e ) .
. . I L - syges + 09222
62208 4 SLEET - Ll
- L = L
. — : — — 50z
e 082 — 1o S28 L ool + e8uez o |
L o= |ww - H — evees + 1902 -
9919 4 87667 - — 1866 + S 4 ot g — . —
ol 05662 1 08°€EC — - = - sie % L vz
2wy 1 7e6eT - ] W0t ] E ] 6E°1ES €922
9 087 - — el + 182 = —
. . — ~ - — 907
s 4 4 - — — —
016 €662 P 1995 + 6.2 .
%€l — B e B €665 | 9.2
VLS T Trese - T 07 _ =
. 08¢ 02
o ] wrs + 9L — 6860¢ | 18222 |@
€95 4 9v6eC - — ~ - el 6z + 992
. 16662 1 69°€C — . — 3 —
5 C ove | . = |
. . Gt N 90
9%V 4 96T — . . — ~N ]
: 08¢ L v 1 96T o I _
vl | | | croes 4 1900
9565 - 99667 L 8l C prooe 4 8222 _ .
LVI6C 1 €666 - [ | - S0
oLt ] | e ] 8IS 4 69020 -
09°¢
1768 + 96'€€C — 562 — — %0z
ol — — . , -
L L 4 8z A L
, : cE'88C - 86TEC 7 S B wes + oz A
%6y - 89667 - ] 8Ly 4+ 96l ] N
. — — %% — S0C
e Esd e — 16 — oL L 10615 + ez o
L oaer 1 28a | e ] N ]
€9y GU662 28 — — ov00E 1 8.2 —
non = .
] — - 4 g . — — 107
Wz & vz - I 88y 96122 C O o
96 — — . — LS 1+ €Ll - fee —
P C o C €re C L0215 Boid
1977 4 9866 - clege 0%t o = iy £€167 .22 - | "
— feer - %uE o — — VIS T vILT o
e . - L C
e [ L L :
L 8Le L At L e
%1 4 16667 - - - L U I
196/ 4 2V¥E I — . . C — 68215 vz
| | wee & o6z | wyee 4+ vz | S Re—
e o — — = o
] . — ) i 18018 4 SLZT
ST6e + SO0V , 7 4 ez B 2 ~ eve ~ 90
Vi 91'vEe - — — 29608 + Sz A
. | 0z + 9% | ez L gz | 90t
Lz 6z = = 0162 8122 - U —
0£0L L L L
' . 88C . 907¢
V59 T 2hore o , vz + ozvez - — — 9le —
91 | ] N 0r90s 4 sl A
) ) ~ eee + 600 ~ ~
86Ve - 110V - 0827 — — 8182 4+ g1z — 07
ov') = B ! I r
85ee + o : g s2g L] 082 ] ] v + S
whe 1+ sere 1 88T — — e I
NN L - -
. L5 - 608 T L628 — — 90
09°¢ _ _ Vv 4 S8ET - L 95208 + Sl
] . . €87 L L
S8 + 6TV _ C e — 02
866C - YEONZ - — . . — —
w2 _ e + 81 L - 67005 + Sz
€7 — ' - . . L
L e - 15182 4+ 9.2 L 907z
N 66592 - VEVET — 65T + 1612 ] ]
- 9912 ot o L — — weey + S
el - . — e —
. : 61
€592 + Syobz €9V 1+ 9EVET o — — — ez
5l 8vl — ez + 610 — , . —
6% 4 ogorz - GIE9T 4 6EVEC - ] 65l ] RN B e | v296r 4 U122 -
— nw 4+ e A — I e .
e 09 | | e 1 Lobh
A SN A
| 9k — -
Ovee - 6507 | | 9zsle + SeLT ] €02
9565z + rvee - 6 - 6.2 o L L
. ~ | 9v6l 16122 ~ | | . R—
ez I I e L
L] ue L | 107
Sk B evisT + 8rvee — — -
] L wue + wie A L evosy + sz A
C vron + 1612 _ _
86 %z L] L . 807
— 997 — Le —
8oL + 8L0v VS . ] — soesy + 9.z
6Ll 5oz s | | — 60k - Bl T — w689z + 98022 — 107
156} Boid 057 — C O
66 + 180 — 192 — — 8658y + 9.2
61 — — Gie ~
we & woz 16152 + 1576 ] - . — ] 602
— — sz + oguzz - - 69e8y + 9.2
. C C 61592 99122 C L e
08t — 192 — — 102 REZ
816z + 29ver [ L IR L ! ) San
I 198 + 862 - — T ey + oz 4~ 3
0oL + 6607 . — - — .
oee - 297 L 9 + 98 L 60e
C | C | 1 vI6ly 4 9rlze
e 8T + 9% — o9 + eszz A ~ 652 ~
2 O r N 107
. ' — : - 000z + 9.2 —
99 I 601 QT + 6916 L %e L L 90y + 9L'lee o
o 80l L L . L]
8gere 4 Livee L €9t + 86U L 292 I .
0§ + e - — — — e
— 157 — Wise + 982 - —
] — el — vy + ez
— 01 4 85z - L 6z95z + 9.2 |
— orveg SO [ _| C 86222 S0 | | L 98'zz s | _| | 9rszeso | |
N 000 "J60xd 000 4601d 00652 JBoxd 00t "JBoxd
)
T
N
~
(]
—
(&)
]
kol
Al
s o) =) R
—
E g E 5 £ 5 E 5 £
o 3 s o 2 o 2 o r o r
—_ —_ A wl —_ —_ —_
m B E . Q m E E . ~ m E E . Q m E E . Q m E E —
o A < = E So X < s E o A < = E So - < = E So - < = E
o2 8o E| 3 2 E z b 2 8o El 3 2 E = RN o2 8o E| 5 2 E = % 2 So E| 7 2 E < % Y So E| 3 2 E z
o w o w 723 o w E (o) [ o w 17 a w E o) S o w 17 a w E (o) B - o w 0 o w E o) ™M < o w D a w E
A N — [Ty] = = <t AN i — LU = — A N d — LU = — Tp) N A — LU = — N~ AN “ = L = o
< .. = o < = = ~ 0 .. = o =< < e ~ o .. = o =< = e ~ N~ .. < o =< = Q ~ (o2} .. = o =< = e
N Q N | 8 o N Ee N Q N | 8 o N Ew © < N| g S N Eo N <« 0 N | o S N Es ¥ © I~ N| g ) N Es
. > N 24 <] o 24 W s : > N 4 Q o 24 w s . > N 4 Q o 24 w s - > N 24 Q o 4 W s - > N [4 Q o 24 w s
[ >~ < x < o > W —_ - < x < o > W [ - < x < o > W — - < x < o = W [ - < x < o >
[ (qV] = > — (q\] = > [ AN = > [ (q\] = > [ AN = >
(@)] o o = <C o o2 (@)] o o = < o o2 (@)] o o = < a o2 [®)] o a = <C o o2 (@)] o o = < o o2
5@ X < | < = = < & 5 o @ X .. < | < = = < & 5 o 5 X .. < | < = = < ® 5 o 5 X .. < | < = E < € 5 o 5 X .. < | < = E < ® 5
huet (@] N N = N o o — haet (@] . N N - N o o — haet (@] . N N - N o o — bart (@] . N N = N o o — bart (@] . N N - N o o
= = Ll = (2] » = = w = « » = = w = o« » = = 51 = (2] » = = w = o
et U 4— <C — Pas O y4— <C -— Past O y— <C -— st O 44— <C -— et O 4— <
o — = < < = = < U o Se o —_ = < < = = < Mo Se o —_— = < < = = < Mo S o — = < < = = < U o S o —_ = < << = = << Mo
o = = o = = E 5 [a = = o = = E s o = = o = = E s o = = o = = =5 o = = o = = E s
© o ozg (] ® m o2 (] @® m o2 (] ] o oz (] ) o o2
© O 2] 2] > > [<2] =] © o - (2] 2] > > 2] =] g © O @« 2] > > @€ =] = © O <] 2] > > <] 5 & = © O (2] 2] > > 2] =]
[=) =) (<] = a ST S o [=) <] =5 [=) ST o [=) <] =5 [=) ST =) [=) </ = =) S e = =) S =5 [= ST
O < n = Q O < n Q O < wn o Q O < n = Q O < wn o




	Fogli e viste
	IDR409


